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1.0 Introduction 

 

2.0 Objectives 

 

3.0 Briefly illustrate the Centre of Gravity. 

 

4.0 “The area of the square whose side is the hypotenuse (the side opposite the right angle) is 

equal to the sum of the areas of the squares on the other two sides”. Derive the statement with 

proper illustrations. 

 

5.0 Data table (Necessary information given below with sketch)  

       

Find the forces in all the members of the truss given below. The truss is supported by a roller and 

hinges only. Use (P=R/25) Kip at C. (where R= last two digits of your roll number in Kip). The 

distance AC=10+R/5 in ft and CD=10+R/5 in ft. 

 

 

 

 

 

 

 

 

 

 

 

 

 

6.0 Result and discussion 
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